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Answer Any Four (04) Questions
All Questions Carry Equal Marks
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If x=2,y=2,andz=6 cvaluate the following mathematical cxprcssions,

2,.,2
o) {(x+y+2){(x>+y32) (i)

Zxy

Simplify the following expressions
~ xt—x?y?ix?oy?
@

) G-y @
Factorize the following
(i) x?-—2x+35 (i)
Solve the following equations.
Hx2-5x+6=0 (ii)
(i) x® —4x+2=0 (iv)

(x*~y*)(x+2y+2)

(x—y)

a*b3(a+b)(a®—b?)

(a2+2ab+b2)(ab)?

3 +xly—x—y
1 —_—

Vit+z==2

2x+y=4
x+3y=7

A motorist travel from “A” to “B” At a speed of 20 k.m.h. He observes that if he
doubled the speed he would take two hours less for his journey. Find the distance

between *“A” and “B”.

In an arithmetic progression (AP) the 3™ term is 16 and the 7' term is 44, Find the

sum of the first 10 terms.

In a Geometric progression the 2™ term is 6 and the 6™ term is 96. Find the sum

of first five terms.

Simplify the following expression without using log tables.

log(64) + log(9)

log(4) + log(6)
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(Q4) @ If a person deposit Rs. 7000 in a savings account which pays an annual cdmpouné@k
interest of 5% what will be the compound amount in his account after 8 years. kY

(i)  The housing department has just completed constructing 3000 houses to low
income group. They have priced each house at Rs. 225,000 and hopes to recover .
this money in ten annual equal installments. If the current interest rate is 18%
(per annum) how much should each installment be?

(Q5) a) Find the differential coefficient with respect to “x” of the following functions.
(i) 2x3 + 7x% + 2x + 3 @) (*+4902x+3)

b) If y=x3+7x%+2x+4
. . d*y
Fmd EZ'

c) If y=x3~48x + 7 find the value of x that would make y a maximum.
(Q6) a) Integrate the following functions with respect to x.
B x¥+7x24+5x+3
241
i =

(i) (x2 4+ 4)(5x+3)

b) Evaluate the following definite integral
2
f x3 + 7x + 2dx
1

c) The total cost of production for a given number of items produced is given by the
following equation.
y = 3x2 + 250x

Where “y” is total cost and “x” is the production level.
Find the additional cost when production level is increased from 200 to 250,
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